
Y2 – Summer – Block 4 – Step 3 – Describe turns Answers

Question Answer

1

2

a)

b) Now the arrow is pointing down.

3

4

a)

b)

The triangle looks the same.

5

a) The ladybird has turned a quarter turn clockwise.
b) The lollipop has turned a three-quarter turn clockwise.
c) The apple has turned a half turn anticlockwise.

6

multiple possible answers, e.g.
The square has turned a half turn clockwise.
The square looks the same after all quarter, half and three-quarter turns in either 
direction.
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